Quiz 14

October 26, 2016

Show all work and circle your final answer.

1. If y = €™, use differentials to estimate the change in y as z

increases from 2 to 3. — %=2, AX=dx=| | Note>
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2. Estimate 24/100.1 using a linearization (write your answer as a
decimal).
Find the lnearization of £0)= 2« at a=100:
P 5= so F(100)= g
£(w0) = 2{i0 = 20
< L(x)= 20+ 6 (x-100) : P4’ i
L(00.1) = 20+ = (100.1-100) = 20+ 7 ={Z0.01}
3. Find the maximum value of f(z) = 2* — 3z%> — 9z + 27 on the

interval [—2,0]. (Critiead | FX)=
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